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Anthropometric measurements are noninvasive quantitative
measurements of the body: According to CDC,
anthropometry provides a valuable assessment of nutritional
status in children and adults:

1. Inthe pediatric: to evaluate the general health status,
nutritional adequacy, and the growth and
developmental pattern of the child.(gold standards by
which clinicians assess the health and well-being of a
child)

/ 2. Inadults, body measurements can help to assess health
and dietary status and future disease risk, to determine
body composition in adults (to help determine
underlying nutritional status and diagnose obesity)
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Acromial process

Mid Arm Circumference

Olecranon process




.

: (Chumlea) Mol> Jgo 48

0Ly @l 38
e da Q8=AMFA —(FY/ex ) + (YA il 03) b (MC 28/8 Errorl) oé = OV +(V A/ x gl5 a8)- (V) /+x :p)
.o q ©

o 08=AV/FE —(Fe/ox ) + (Vo/Vx gil; 08) b (MC 48/7 Error L) o3 = \+/a0+ (A+/Y x gil; 03)



065 slr 03

ol sly 039
(* 11.46 kg <85 L) ()59 = (g5l 08 x Y,V +) + (93b 90 Lawg ojlail x ¥,+ V) = YO,

WSl (0 p T oS (039 G5 0)ll ualg gy (Sl il U3 9 950 590 (5 5 o3Il walg









